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Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct; fill that bubble in
front of that question number. On bubble sheet, use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in
zero mark in that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be
awarded in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 A
(1) A fraction in which the degree of numerator is less -3 #3830t ()
than the degree of the denominator is called:

(A) Anequation =ile (B)  Animproper fraction s @
(C) Anidentity <fv (4B7 A proper fraction Al
(2)  The number of elements in power set { 1, 2, 3} is ) ..:_dmlﬂJuK.df.waLl{ ,2,3} @
(A) 4 (B) 6 8 (D) 9
(3) ,Thepoint (-1, 4) lies in the quadrant: e btnflA-1,4) 5 ()
I B) 1 < v (D) 1
(4) A grouped frequency table is also called: c.,mf dmdw"w/ (4)
(A) Data i ) Frequency distribution fj Sos¥ -
(C) Frequency polygon  {usur 2549 (D) Cumulative frequency distribution (=~ H98+%
(5) The union of two non-collinear rays, which -Qruf___urfg(mJ VU (Y e Zu (5
have common end point is called:
) Anangle . (B) Adegree (.8 (C) Aminute o (D) Aradian 4/
(6) The symbol for a triangle is denoted by: :c‘-_-wusal_ LSSt (6)
(A) < ® L © o ) A
(7) A line which has two points in common with a B unS i Lemnl Skl (1D
circle is called:
(A) ~Sine of acircle  sine¥e /1 (B) Cosine of acircle cosine¥e 7>
Secant of a circle Secantse_7is (D) Tangentofacircle Tangentée 7t
(8) - A pair of chords of a circle subtending two -Lux___ ARTsultE e usimPenis?) S ®)
congguent central angles is:
(\A.%ﬁgment Ju (B) Incongruent  J1+ ¢ (© Over Lapping /i (D)Parallel (i
(9)  The length of the diameter of a circle is_ et Lol mddSpLemdi  ©)
times the radius of the circle:
(A) One . fi (B) Two  » (C) Three o (D) Four "
(10) The tangent and radius of circle at the point of e ki Sl g W ke 7 (10)

contact are: o
(A) Parallel (2L (B) Not Perpendicular ;_,mj:-;»f,; (mcular 2+ 4, (D) Collinear u!b’ﬁéﬁ

(11) Anequation, whlc:hl remains unchanged when Gee i onsbibe it fz-wl BEX S Peeny AD
“x” is replaced by — is called a/an: - x
X

(A) Exponential Equation e ad tg) Reciprocal Equation =ilsys®
(C) Radical Equation 9572 (D) Quadratic Equation ...uw;»»

(12) Roots of the equation 4x* «é};}k Oare: -mgf’u[. 4x*-5x+2=0cbl- (12)
(A) Trrational P Imaginary & ¢ (©) Rational (D) Natural (.49
(13) Prodact of cube roots of unity is: e o PSP L0 (13)

1 _®) © -1 D) 3
(14) The thlrd proportional of x* and yz is: e U1Ky it (14)
(A) y? ®) xYy }6/ 4 D 2/
2
x X /x4
(15) 1t % = 3 , then componendo property is: 2 7 m —=— / (15)
(N g-b _i-d ® _4___c¢ © ) _a___,: ¢
b d a=-b c-d be a+b c+d
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NOTE: - Write same question number and its part
number on answer book, as given in the question paper.
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2. Attempt any six parts.

(i) Solve 5x*=30x by factorization. LSS 5E=30x O
(ii) Define Quadratic equation. oy SamaGsy  Gi)
(iii) Evaluate w+wh. 5 wi+w?-5  geed Gid
(iv) If a,f are the roots of the equation Ul A —5x+6=0 =hle a,BN Gv)
4x® — 5x + 6= 0, then find the value of -+ - IS TR
a pB : Ta B
(v) Define Synthetic Division. EaEEE W
(vi) Find the Discriminant of the given equation: " ‘,__rr,;,,, SO etlodng (i)
2 -Tx+1=0 ) 22X -Tx+1=0
{vii) Find ‘x’ in the following proportion: ,ér,lv_.,g'd’ XSttt (vid)
S Sk G S g ol | ) 3x~2'4".2x+3"?
(i) If w oci: and w=2 when v = 3, find w. —A:-‘.gr’l" Winv=32W=2 4w °°“"1':‘ Ji
v v
(ix) Define proportion. FE Sl (0
3. Attempt any six parts. 12=2x6 i felzlinge 35340y
(i) Define rational fraction. FEw S
il 3,2 3 x4 x+1 5
@) Resolve the fraction 2 JZ L, into proper fraction. AL LA =y Lf;:;— @
x* +
fiii) Ifx={2,4,6,...,20}andy={4,8,12,...,24} #x={2,4,6,..... ,20 30 i)
then find x —y
L x—yin y=1{4,8,12,...,24}
tiv) Define binary relation. “E PSudE v
(v) IfL={a,b,c},M= {3, 4}, then find jx M={3,4} » L={a,b,c}.|
LxMand MxL.
e MxLsLxM
o) IA=(1.23456)B=(24,68) B={2,4,6,8} +A={1,2,3,4,5,6./
then prove that A B=B(14 .
P ANB=BNASE ki n
(vi)) The marks of seven students in Mathematics are as & ALien s i v el (i)
follows Student 5 1 7
"Student 112131451617 No. il b ad el it
No. Mark 74 |58 | 65|63 | 49
Maks 45607458 65163(49] - g
Calculate Arithmetic Mean. ' ' L il essliry
(Viii) Define Harmonic mean. - f S BT A i)
(ix) The salaries of five teachers (in rupees) are as follows: it (LI ¥ Sl

SECTION-1 sl .

12=2x6

11500, 12400, 15000, 14500, 14800
Find Range.

&5

- f ez linge 32 Ay

11500, 12400, 15000, 14500, 14800
Lo

MTH" 0= ‘-'\8




3
4. Attempt any six parts. 12=2x6 -é4;¢§|££l;?l%’¢-|j)f-4ﬁ}dlf
(i) Define angle of elevation. e O

(i) Convert % to degrees. Ede SN -’%’ Gi)
(iii) Findr, when £=52cm and 6 =45° =45 (=52 F Bt GiD
(iv) Define projection of a point. o fT i d; L u,r (iv)

(v) Define a radial segment. E S5 W)

-gi.@ﬁ;fuvﬁ.ju (vi)

(vi) Define tangent of a circle.

(vii) Define segment of a circle. EB PG (viD)
(viii) Define circumangle. -t fEaney (i)
(ix) Define inscribed circle. E G (X

SECTION-II (24

3x8=24 - ($iU9 Ao fenzloird (s
NOTE: - Attempt any three questions but question No.9 is compulsory.

5. (a) Solve éxm =Tx".2 5x12 =714 2 S (s
(b) Solve the st s equations: | S Suls (L)
x> +2y7 =22 'x2+2y2=2(2. '
SX2+YZ=29 5x2+y2=29
6. (a) Using theorem of componendo - dividendo find the Ll S e P ok (-6
2y x+2z . 4yz
alue of i +— ifx= dyz x+2y x+2z
?r e S e T x=y+z Sy /et adS x—2y+x-22
(b) ; : : &4 2 (&)
Resolve into partial fractions: ——— NPRNE. M— ) # d:".' ez =
o Pl RO =D(x+2y Gy W e
7.@)If U={1,2,3,4,5,6,7,8,9,10} U={1,2,3,4,5,6,7,8,9, 10}./1 (.7
A={1,3,5,7,9},B={2,3,5, 7} then verify that A={1,3,57,9},B={2,3,57)
AnBiI:A'UB’ 3=y~ Iy s E Mt Bor
( ) (AnB)'=A'UB'V:/:f.E';
(b) Calculate variance for the following data: (e Snrdits ()
10,8,9,7,5,12,8,6,8,2 110,8,9,7,5,12,8,6,8,2
a) Sin@+Cos@  Cos’6 Sin@+Cos@  Cos’0 ()-8
Prove that = = S E et
Ve an?0-1  Sinf—Cos0 01 ~Sind-Cost "%
(b) Circumscribe a circle about an equilateral P aSUSE s L B et din P ¥ABCELEL WotiSsls ()
triangle ABC with each side of length 4cm. NG PED Bkl e
9.  Prove that two chords of a circle which are —plnf AU boific S paimlemS St 9
equidistant from the centre, are congruent. _ ' )
OR L
Prove that the opposite angles of any quadrilateral sl e L A2 /’blf( S

inscribed in a circle are supplementary.
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Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct; fill that bubble in

front of that question number. On bubble sheet, use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in

zero mark in that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be
awarded in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.l -1 /:"Jlr
(1)  The fourth proportional w of x:y:: viw is WGy VW (D)
A xy ® Y © xyv @ X
v X vy

(2) A fraction in which the degree of numerator is less .. ys wl eSS FNGTRESS @
than the degree of the denominator is called:

(A) Anequation =l (B)  Animproper fraction /2154
(C) AnIdentity =V (D) A Proper fraction /215
(3) A set with no element is called: :?r&f wed I ES ey 3
(A) Infinite set cx$t#  (B) Emptyset exdé  (C) Singletonset cxtf (D) Superset 2xf
(4) The Range of R = {(1, 3), (2,2), (3,1), (4.4)} is: »R={(1, 3),(2,2), 3,1), @y @
:.».:..d.ﬁ Range J
(A) {1,2,4} (B) {3,2,4} ©) {1,2,3,4} D) {1,3,4}
(5) The spread or scatterness of observations in a data e b 5E beiatiry ()
set is called:
(A) Average b (B) Dispersion A= (C) Central tendency o287, (D) Median s
(6) ..The union of two non-collinear rays, which «q_mf o PSP LWP VAL An (6)
have common end point is called:
(A) Anangle .0 (B) A degree ¢./3 (C) Aminute & (D) A radian /%
(7)  The symbol for a triangle is denoted by: e er§SIel (D
A) < (B) © © 41 ® A
(8) A chord passing through a centre of a circle is called: :q.rllf sl plen @)
(A) Secant Eow (B) Circumference .¢ (c) Diameter & (D) Radius (/'»
(9) A pair of chords of a circle subtending Lun A ;_,d%-w&.;.u;}mu?a,.sudf /.f T ()
two congruent central angles is: :
(A) Congruent J s (B) Incongruent J s (C) Over lapping /1> (D) Parallel Ji#
(10) Angle inscribed in a semi-circle is: e En i Jreioaid  (10)
(A) = (B = (O 1 : D) 7
4 3 2 6
(1) tangent/tangents can be drawn from a (B £ e E S B L f L I an
point outside the circle. Y iy
(A)One i (B) Four U (C) Three ¢ D) Two »
(12) An equation of the type 3* +3**+6=0 isa/an 1-9:‘-(20/ ¥ 432X 4 6=0 whl (12)
(A) Exponential equation ehedies (B) Radical equation =bl-y.ie
(C) Reciprocal equation sl (D) Quadratic equation =tsleG.s
(13) Two square roots of unity are: a8 e LS8 (13)
A) 1,-1 ® 1,0 © 1,-w ® ,o’
(14) If @, are the roots of x? —x — 1 = 0 then product Juns Ll -x-1=0cii- a,B A (e
of the roots 2a and 2 3 is: ietne ALK 204 2a
(A) -2 (B) 2 C) 4 (D) -4
(15) In Continued Proportion a:b = b:c, ac = b’, b is said Jeac= b?cacb=bic ..,-r(:‘-‘;)*’ (15)
to be proportional between a and ¢: -q.rmf -t b oyslcsla
(A) Third 1, (B)  Fourth 3 (€) Means b (D) Second 1,2

MLTN -to—2-\&
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NOTE: - Write same question number and its part
number on answer book, as given in the question paper.
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SECTION-1 sl

2. Attempt any six parts. 12=2x6 z,{/ Fevzlimga 2 Ay
® rite the equation in standard form. ——+——=3 : ;=3 SrLsden. O
x+4 x-4 x+4 x—4
(ii) Define quadratic equation. Iy SN P )
(iii) Dizscuss the nature of the roots of the equation L Hx—-1=0 -y s, rg.a’j,,{__.,.,p Giii)
x> +6x—-1=0 -
(iv) Evaluate (1-w+ 0?° A - 0+ a*)* /S )
(v) If a, B are the roots of the equation Jun Sl 4x —5x+6=0ciis B, @ G
4x® — 5% + 6 = 0 then find the value of ,1_+i _J/r)rh:,fd/ _1_+_L
B ) a p
(vi) Find the chscnmmant of the given quadratic 224 3x - 1=0 /0 Mabled sdnds (i)

“equation 22 +3x—1=
(vii) Find ‘a’ if the ratios a + 3 7+ a and 4:5 are equal.

(viii) Define inverse variation.

(1x) and A 2 whenr =3 find ‘r’

when A =72

3. Attempt any six parts. 12=2x6

(i) Define fraction.

(ii)

Resolve into partial fraction it

(x-D(x+2)
(i) If X={a,b,c}, Y={d,c}thenfindXxY
(iv) Define Binary Relation.
W B Xa{1,3,5.7, coun

Y=1{0,2,4,6,....

19},
20} then find XUY

(vi) Findaandbif(a—-4,b-2)=(2,1)
(vii) Define Mode.
(viii) Find Arithmetic mean.
(ix) Write the formula to find mode for grouped data.

X={1,

A @ Junas 4SS ma+3:T+a AN Gid)
Sy s F i)
AA=T2EYS# T 1=3 2A=2 sAX i; (ix)
r
& F MR LI @:-Jf 34l
AP O

7 ” 3x+3 (")
_ijﬁJ/dsff——*(x D(x+2)

L/ XxY inX={ab,c}, Y={d, c}i Gid)

oSl v

19}, Y = {0,2,4,6,....,20}./1 )
.u‘/rr}'-’ XU Yis

(a 4,b-2)=2,D) iy bsa D

_J):.v/"d:)b (vii)

-u'/ bl (viii)
..;f'ﬁ .1 E/L./r f’:l" a:ls;..)tr'{ﬁs/ (ix)

3.5 an

4. Attempt any six parts. 12=2x6 Efevrlimgedlafdr
(i) Define quadrantal angle. : . < S f@" ST
(ii) Verify that (tan 6 +cot 6) tan 6 = sec” 0 (tan@ +cotf)tan@ =sec’ § SE =t (id)
(i) Find £ when 6=180°, 7=4.9cm 0=180°, r=49cm Soagpt =il Gi)
(iv) Define right angle. SIS ()
(v) Define chord of a circle. SIS fEnla W
(vi) Find half the Perimeter of a circle with -t arkinidin =3.1416,(radius) r =20em/)i (i)
7=3.1416,(radius) r =20cm

(vii) Define sector of a circle. Sl ¥ }‘ Loz (vii)
viii) What is meant by incentre of a triangle? e e purd Ladefl (i)
(ix) Define circumcircle. Ny AT A )

(“ilu”»)



SECTION-1I ¢5 .
3x8=24 e $9AUr R, ekl ciivif e S s

NOTE: - Attempt any three questions but question No.9 is compulsory.

5. (a) Solve the equation ~ x*—2x —195=0 SO I 238 K =2 — 195 = Oeislr (LHH).5
By completing square method. )

(b) Prove that

X3+)’3=(X+YJ(X+ oY) (X + w2Y) X +y =(x+y)(x+wy)(x+a) Y)Ién:ff (n-_-')

6. (a) Using componendo — dividendo theorem, alliea i ..-;,,»JU:""-.- Lok (U6
(x+3)*-(x-5)" 4

solve the equation: > =
(x+3)2+(x=5)* 5

(x+3)’—(x-5)* _4
-7 (x+3)2+(x=5)* 5

(b) . ; : 9 9 )
Resolve into partial fractions ———————— —_—_— A Lz
£ > =Dx+2)? (x-1)(x+2)? £ e
@I U={1,2,3,4,56,7,8,9,10} U={1,2,3,4,5,6,7,8,9,10} Ji (h).7
A={193s 5: 79 9}3B= {2;41 5: 7} Veﬂf}’De“ . -
Morgan’s law (AN B)'=4'UB’ ol AdtinA={1,3,5,7,9}, B={2,4,5,7)

(ANBY=A'UB' -3

(b) The marks of six students in Mathematics are 5 it A1k ot L5t s S S e L P L E U b7 (L)
as follows. Determine Standard deviation. il i P

Students| 1 | 2 |3 |4 ]5]6 || A% ]|2]3]|4]5]|6
No. dufe, | 60 |70 [30 [ 90 | 80 | 42
Marks | 60 | 70 | 30 | 90 | 80 | 42
obtained
8. (a) Prove that 1+ 8in6 1-Sin@ = P SEe0 1+ Sin@ _ 1-Sin6 ~4tan 0 Secd f{_{f:—:? ()-8

1-Sin®  1+Sin@ 1-Sin®  1+Sind

(b)Y Draw two circles with Radii 3.5 cm and 2 cm. L sk p L S 2 35 i dﬁu’-u‘f-{@/’b )
If their centres are 6 cm apart, then draw two Qe atdip Lol /i 2 x x » (o

transverse common tangents. S o #("6
9. Prove that two chords of a circle which are e HJ‘U"‘(TLU PRV DI S Y PR N ¢ 9
equidistant from the centre, are congruent.
OR 3
Prove that the opposite angles of any quadrilateral ke b LA g S snsS et
inscribed in a circle are supplementary. )
Y P
MLTN=- 0= F 32-2018(A)-35000 (MULTAN)




